Simplificar Expresiones (C)

Simplifique cada expresion.

Y49 +y+3u+5 6. y+10—1+Tuy — uy

L a®+6au+1+a>+9 7. y2+z—z+5z+z2
=348y +3y?—4—1 8. z+3az+4+1+7
. —b—a+6—ab+ab 9. 1 =3a—ac—ac—10
.=V —v4vy+ 6y —1? 10. 10> +a+a+1+u
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Simplificar Expresiones (C) Respuestas

Simplifique cada expresion.

Y492+ y+3u+5 6. y+10—14T7uy —uy
=10y*+y+3u+5 = 6uy+y+9
a*+6au+1+a>+9 7. y2+2—2+52+2
= 2a” + 6au+ 10 =yz+6z

C—348y2 43y —4—1 8. z+3az+4+1+7
=11y> -8 =3az+z7°+z+5

. —b—a+6—ab+ab 9. 1 —3a—ac—ac—10
=—b—a+6 = —2ac—3a—9

L=V — V4 vy 46y —1? 10. 10u> +a+a+1+u
= -2V’ + vy — v+ 6y = 10u*>+2a+u+1
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